
PAPER – 3: COST AND MANAGEMENT ACCOUNTING 

QUESTIONS 

Material Cost 

1. Ananya Ltd. produces a product ‘Exe’ using a raw material Dee. To produce one unit of 
Exe, 2 kg of Dee is required. As per the sales forecast conducted by the company, it will 

able to sale 10,000 units of Exe in the coming year. The following is the information 

regarding the raw material Dee: 

(i)  The Re-order quantity is 200 kg. less than the Economic Order Quantity (EOQ).  

(ii)  Maximum consumption per day is 20 kg. more than the average consumption per day.  

(iii)  There is an opening stock of 1,000 kg. 

(iv)  Time required to get the raw materials from the suppliers is 4 to 8 days.  

(v)  The purchase price is `125 per kg. 

There is an opening stock of 900 units of the finished product Exe.  

The rate of interest charged by bank on Cash Credit facility is 13.76%. 

To place an order company has to incur ` 720 on paper and documentation work. 

From the above information FIND OUT the followings in relation to raw material Dee:  

(a) Re-order Quantity 

(b) Maximum Stock level 

(c) Minimum Stock level 

(d) CALCULATE the impact on the profitability of the company by not ordering the EOQ.  

[Take 364 days for a year] 

Employee (Labour) Cost 

2. A Company is undecided as to what kind of wage scheme should be introduced. The 

following particulars have been compiled in respect of three workers. Which are under 

consideration of the management. 

 I II III 

Actual hours worked  380 100 540 

Hourly rate of wages (in `) 40 50 60 

Productions in units:    

- Product A 210 - 600 

- Product B 360 - 1350 

- Product C 460 250 - 
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Standard time allowed per unit of each product is:    

 A B C 

Minutes 15 20 30 

For the purpose of piece rate, each minute is valued at ` 1/- 

You are required to CALCULATE the wages of each worker under:  

(i) Guaranteed hourly rate basis 

(ii) Piece work earning basis, but guaranteed at 75% of basic pay (Guaranteed hourly 

rate if his earnings are less than 50% of basic pay.) 

(iii) Premium bonus basis where the worker received bonus based on Rowan scheme.   

Overheads- Absorption Costing Method 

3. The Union Ltd. has the following account balances and distribution of direct charges on 

31st March, 2019. 

  

Total 

Production Depts. Service Depts. 

Machine Shop Packing General 

Plant 

Stores  

Allocated Overheads: (`) (`) (`) (`) (`) 

Indirect labour 29,000 8,000 6,000 4,000 11,000 

Maintenance Material 9,900 3,400 1,600 2,100 2,800 

Misc. supplies 5,900 1,500 2,900 900 600 

Supervisor’s salary 16,000 -- -- 16,000 -- 

Cost & payroll salary 80,000 -- -- 80,000 -- 

Overheads to be apportioned: 

Power 78,000     

Rent 72,000     

Fuel and Heat 60,000     

Insurance 12,000     

Taxes 8,400     

Depreciation 1,20,000     

 The following data were compiled by means of the factory survey made in the previous 

year: 

 Floor Space Radiator 

Section 

No. of 

employees 

Investment H.P. 

hours 

Machine Shop 2,000 Sq. ft. 45 20 8,00,000 3,500 
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 PAPER – 3: COST AND MANAGEMENT ACCOUNTING 3 

Packing 800 Sq. ft. 90 12 2,40,000 500 

General Plant 400 Sq. ft. 30 4 80,000 - 

Stores & 

maintenance 

1,600 Sq. ft. 60 8 1,60,000 1,000 

 Expenses charged to the stores departments are to be distributed to the other departments 

by the following percentages: 

 Machine shop 50%; Packing 20%; General Plant 30%;  

 General Plant overheads is distributed on the basis of number of employees. 

(a) PREPARE an overhead distribution statement with supporting schedules to show 

computations and basis of distribution. 

(b) DETERMINE the service department distribution by simultaneous equation method.  

Overheads- Activity Based Costing (ABC) Method  

4.  MST Limited has collected the following data for its two activities. It calculates activity cost 

rates based on cost driver capacity. 

Activity Cost Driver Capacity Cost (`) 

Power Kilowatt hours 50,000 kilowatt hours 40,00,000 

Quality 
Inspections 

Number of 
Inspections  

10,000 Inspections 60,00,000 

The company makes three products M, S and T. For the year ended March 31, 20X9, the 

following consumption of cost drivers was reported: 

Product Kilowatt hours Quality Inspections 

M 10,000 3,500 

S 20,000 2,500 

T 15,000 3,000 

Required: 

(i)  PREPARE a statement showing cost allocation to each product from each activity.  

(ii)  CALCULATE the cost of unused capacity for each activity.  

(iii)  STATE the factors the management considers in choosing a capacity level to 

compute the budgeted fixed overhead cost rate. 

Cost Sheet 

5.  Following information relate to a manufacturing concern for the year ended 31 st March, 

2019:  
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4 INTERMEDIATE (NEW) EXAMINATION: MAY, 2019 

 (`)  

Raw Material (opening) 2,28,000 

Raw Material (closing) 3,05,000 

Purchases of Raw Material 42,25,000 

Freight Inwards 1,00,000 

Direct wages paid 12,56,000 

Direct wages-outstanding at the end of the year 1,50,000 

Factory Overheads 20% of prime cost 

Work-in-progress (opening) 1,92,500 

Work-in-progress (closing) 1,40,700 

Administrative Overheads (related to production) 1,73,000 

Distribution Expenses `16 per unit 

Finished Stock (opening)- 1,217 Units 6,08,500 

Sale of scrap of material 8,000 

The firm produced 14,000 units of output during the year. The stock of finished goods at the 

end of the year is valued at cost of production. The firm sold 14,153 units at a price of `618 

per unit during the year.  

PREPARE cost sheet of the firm.  

Non-integrated Accounting 

6. The following is the summarised Trading and Profit and Loss Account of XYZ Ltd. for the 

year ended 31st March 2019: 

Particulars Amount 

(`) 
Particulars Amount (`) 

Direct Material  14,16,000 Sales (30,000 units) 30,00,000 

Direct wages 7,42,000 Finished stock (2,000 units) 1,67,500 

Works overheads 4,26,000 Work-in-progress:  

Administration overheads 1,50,000 - Materials             34,000  

Selling and distribution 
overheads 

1,65,000 - Wages                16,000  

Net profit for the year 3,22,500 - Works overhead    4,000 54,000 

 32,21,500  32,21,500 

 The company’s cost records show that in course of manufacturing a standard unit (i) works 
overheads have been charged @ 20% on prime cost, (ii) administration overheads are 
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related with production activities and are recovered at `5 per finished unit, and (iii) selling 

and distribution overheads are recovered at `6 per unit sold.  

 You are required to PREPARE: 

(i)  Costing Profit and Loss Account indicating the net profits,  

(ii)  A Statement showing reconciliation between profit as disclosed by the Cost Accounts 

and Financial Accounts. 

Contract Costing 

7.  Dream house (P) Ltd. is engaged in building two residential housing projects in the city. 

Particulars related to two housing projects are as below:  

 HP-1 (`) HP-2 (`) 

Work in Progress on 1st April 2018 7,80,000 2,80,000 

Materials Purchased 6,20,000 8,10,000 

Land purchased near to the site to open an office - 12,00,000 

Brokerage and registration fee paid on the above purchase - 60,000 

Wages paid  85,000 62,000 

Wages outstanding as on 31st March, 2019 12,000 8,400 

Donation paid to local clubs 5,000 2,500 

Plant hire charges paid for three years effecting from 1st 
April 2018 

72,000 57,000 

Value of materials at site as on 31st March, 2019 47,000 52,000 

Contract price of the projects  48,00,000 36,00,000 

Value of work certified 20,50,000 16,10,000 

Work not certified 1,90,000 1,40,000 

A concrete mixture machine was bought on 1st April 2018 for `8,20,000 and used for 180 

days in HP-1 and for 100 days in HP-2. Depreciation is provided @ 15% p.a. (this machine 

can be used for any other projects) 

PREPARE contract account for the two housing projects showing the notional profit or loss 

on each project for the year ended 31st March, 2019. 

Process Costing 

8. Following information is available regarding process A for the month of February, 20X9:  

Production Record: 

Units in process as on 01.02.20X9 4,000 

(All materials used, 25% complete for labour and overhead)  
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New units introduced  16,000 

Units completed  14,000 

Units in process as on 28.02.20X9 6,000 

(All materials used, 33-1/3% complete for labour and overhead)  

Cost Records: 

Work-in-process as on 01.02.20X9 (`)  

Materials  6,00,000 

Labour 1,00,000 

Overhead  1,00,000

 8,00,000 

Cost during the month  

Materials  25,60,000 

Labour  15,00,000 

Overhead  15,00,000

 55,60,000 

Presuming that average method of inventory is used, PREPARE:  

(i) Statement of Equivalent Production.  

(ii) Statement showing Cost for each element.  

(iii) Statement of Apportionment of cost.  

(iv) Process Cost Account for Process A. 

Joint Product and By Product 

9. A company processes a raw material in its Department 1 to produce three products, viz. 

A, B and X at the same split-off stage. During a period 1,80,000 kgs of raw materials were 

processed in Department 1 at a total cost of ` 12,88,000 and the resultant output of A, B 

and X were 18,000 kgs, 10,000 kgs and 54,000 kgs respectively. A and B were further 

processed in Department 2 at a cost of `1,80,000 and `1,50,000 respectively. 

 X was further processed in Department 3 at a cost of `1,08,000. There is no waste in 

further processing. The details of sales affected during the period were as under:  

 A B X 

Quantity Sold (kgs.) 17,000 5,000 44,000 

Sales Value (`) 12,24,000 2,50,000 7,92,000 
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 There were no opening stocks. If these products were sold at split -off stage, the selling 

prices of A, B and X would have been ` 50, ` 40 and ` 10 per kg respectively.  

Required: 

(i) PREPARE a statement showing the apportionment of joint costs to A, B and X. 

(ii) PRESENT a statement showing the cost per kg of each product indicating joint cost 

and further processing cost and total cost separately. 

(iii) PREPARE a statement showing the product wise and total profit for the period.  

(iv) STATE with supporting calculations as to whether any or all the products should be 

further processed or not  

Service Costing 

10.  A company runs a holiday home.  For this purpose, it has hired a building at a rent of 

`10,00,000 per month alongwith 5% of total taking.  It has three types of suites for its 

customers, viz., single room, double rooms and triple rooms.  

 Following information is given: 

Type of suite Number Occupancy percentage 

Single room 100 100% 

Double rooms 50 80% 

Triple rooms 30 60% 

The rent of double rooms suite is to be fixed at 2.5 times of the single room suite and that 

of triple rooms suite as twice of the double rooms suite.  

 The other expenses for the year 20X9 are as follows: 

    (`) 

Staff salaries 14,25,00,000 

Room attendants’ wages 4,50,00,000 

Lighting, heating and power 2,15,00,000 

Repairs and renovation 1,23,50,000 

Laundry charges 80,50,000 

Interior decoration 74,00,000 

Sundries  1,53,00,000 

Provide profit @ 20% on total taking and assume 360 days in a year.  

You are required to CALCULATE the rent to be charged for each type of suite.  
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Standard Costing 

11. ABC Ltd. had prepared the following estimation for the month of April:  

  Quantity Rate (`) Amount (`) 

Material-A 800 kg. 45.00 36,000 

Material-B 600 kg. 30.00 18,000 

Skilled labour 1,000 hours 37.50 37,500 

Unskilled labour 800 hours 22.00 17,600 

Normal loss was expected to be 10% of total input materials and an idle labour time of 5% 

of expected labour hours was also estimated. 

At the end of the month the following information has been collected from the cost 

accounting department: 

The company has produced 1,480 kg. finished product by using the followings:  

 Quantity Rate (`) Amount (`) 

Material-A 900 kg. 43.00 38,700 

Material-B 650 kg. 32.50 21,125 

Skilled labour 1,200 hours 35.50 42,600 

Unskilled labour 860 hours 23.00 19,780 

 You are required to CALCULATE: 

(a) Material Cost Variance; 

(b)  Material Price Variance; 

(c)  Material Mix Variance;  

(d)  Material Yield Variance; 

(e)  Labour Cost Variance;  

(f)  Labour Efficiency Variance and 

(g)  Labour Yield Variance.  

Marginal Costing 

12. MNP Ltd sold 2,75,000 units of its product at ` 375 per unit. Variable costs are ` 175 per 
unit (manufacturing costs of `140 and selling cost `35 per unit). Fixed costs are incurred 
uniformly throughout the year and amount to `3,50,00,000 (including depreciation of  
` 1,50,00,000). there are no beginning or ending inventories.   

 Required: 

(i)   COMPUTE breakeven sales level quantity and cash breakeven sales level quantity. 
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 PAPER – 3: COST AND MANAGEMENT ACCOUNTING 9 

(ii)  COMPUTE the P/V ratio.  

(iii)  COMPUTE the number of units that must be sold to earn an income (EBIT) of  

` 25,00,000. 

(iv)  COMPUTE the sales level achieve an after-tax income (PAT) of ` 25,00,000.  Assume 

40% corporate Income Tax rate. 

Budget and Budgetary Control 

13.  S Ltd. has prepared budget for the coming year for its two products A and B.  

 Product A (`) Product B (`) 

Production & Sales unit 6,000 units 9,000 units 

Raw material cost per unit 60.00 42.00 

Direct labour cost per unit 30.00 18.00 

Variable overhead per unit 12.00 6.00 

Fixed overhead per unit 8.00 4.00 

Selling price per unit 120.00 78.00 

After some marketing efforts, the sales quantity of the Product A & B can be increased by 

1,500 units and 500 units respectively but for this purpose the variable overhead and fixed 

overhead will be increased by 10% and 5% respectively for the both products.  

You are required to PREPARE flexible budget for both the products:  

(a) Before marketing efforts 

(b) After marketing efforts. 

Miscellaneous  

14.  (a)  DISTINGUISH between Cost Control and Cost Reduction. 

(b)  DISCUSS the accounting treatment of Idle time and overtime wages.  

(c)  DISCUSS cost classification based on variability and controllability. 

SUGGESTED HINTS/ANSWERS 

1.  Working Notes: 

 (i)  Computation of Annual consumption & Annual Demand for raw material ‘Dee’:  

Sales forecast of the product ‘Exe’ 10,000 units 

Less: Opening stock of ‘Exe’ 900 units 

Fresh units of ‘Exe’ to be produced 9,100 units 
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Raw material required to produce 9,100 units of ‘Exe’  
(9,100 units × 2 kg.) 

18,200 kg. 

Less: Opening Stock of ‘Dee’ 1,000 kg. 

Annual demand for raw material ‘Dee’ 17,200 kg. 

 (ii) Computation of Economic Order Quantity (EOQ): 

 EOQ  = 
2 Annualdemandof 'Dee ' Orderingcos t

Carryingcos t per unit per annum

 
 

   = 
2 17,200kg. 720

125 13.76%

 


`

`
 = 

2 17,200kg. 720

17.2

  `

`
 = 1,200 kg. 

 (iii) Re- Order level:  

  = (Maximum consumption per day × Maximum lead time) 

  = 
AnnualConsumptionof 'Dee '

20kg. 8 days
364days

      
  

  

  = 
18,200kg.

20kg. 8 days
364days

      
  

= 560 kg. 

 (iv) Minimum consumption per day of raw material ‘Dee’: 
Average Consumption per day   = 50 Kg. 

Hence, Maximum Consumption per day  = 50 kg. + 20 kg. = 70 kg. 

So Minimum consumption per day will be 

Average Consumption = 
Min.consumption Max.consumption

2


 

Or,  50 kg.   = 
Min.consumption 70kg.

2


 

Or,  Min. consumption    = 100 kg – 70 kg.   = 30 kg. 

(a) Re-order Quantity :  

 EOQ – 200 kg.    = 1,200 kg. – 200 kg.  = 1,000 kg. 

(b) Maximum Stock level: 

 = Re-order level + Re-order Quantity – (Min. consumption per day × Min. lead  

              time) 

 = 560 kg. + 1,000 kg. – (30 kg. × 4 days) 

© The Institute of Chartered Accountants of India



 PAPER – 3: COST AND MANAGEMENT ACCOUNTING 11 

 = 1,560 kg. – 120 kg. = 1,440 kg. 

(c) Minimum Stock level: 

 = Re-order level – (Average consumption per day × Average lead time) 

 = 560 kg. – (50 kg. × 6 days) = 260 kg. 

(d) Impact on the profitability of the company by not ordering the EOQ. 

  When purchasing the ROQ When purchasing the EOQ 

I Order quantity 1,000 kg. 1,200 kg. 

II No. of orders a 

year 
17,200kg.

17.2or18orders
1,000kg.

  
17,200kg.

14.33or15orders
1,200kg.

  

III Ordering Cost 18 orders × ` 720 = `12,960 15 orders × ` 720 = `10,800 

IV Average 

Inventory 
1,000kg.

500kg.
2

  
1,200kg.

600kg.
2

  

V Carrying Cost 500 kg. × ` 17.2 = ` 8,600 600 kg. × ` 17.2 = ` 10,320 

VI Total Cost ` 21,560 ` 21,120 

  Extra Cost incurred due to not ordering EOQ = ` 21,560 - ` 21,120 = `440 

2.  (i)  Computation of wages of each worker under guaranteed hourly rate basis  

Worker Actual hours 
worked (Hours) 

Hourly wage rate 

(`) 
Wages (`) 

I 380 40 15,200 

II 100 50 5,000 

III 540 60 32,400 

(ii)  Computation of Wages of each worker under piece work earning basis  

Product Piece rate 
per unit 

Worker-I Worker-II Worker-III 

 (`) Units Wages 
(`) 

Units Wages 
(`) 

Units Wages 
(`) 

A 15 210 3,150 - - 600 9,000 

B 20 360 7,200 - - 1,350 27,000 

C 30 460 13,800 250 7,500 - - 

Total   24,150  7,500  36,000 

© The Institute of Chartered Accountants of India



12 INTERMEDIATE (NEW) EXAMINATION: MAY, 2019 

 Since each worker’s earnings are more than 50% of basic pay. Therefore, worker -I, 

II and III will be paid the wages as computed i.e. ` 24,150, ` 7,500 and ` 36,000 

respectively.  

 Working Notes: 

  1.  Piece rate per unit 

Product Standard time per 
unit in minute 

Piece rate each 
minute (`) 

Piece rate per 
unit (`) 

A 15 1 15 

B 20 1 20 

C 30 1 30 

 2.  Time allowed to each worker 

Worker Product-A Product-B Product-C Total Time (H 

ours) 

I 210 units × 15  

= 3,150 

360 units × 20  

= 7,200 

460 units × 30  

= 13,800 

24,150/60   

= 402.50 

II - - 250 units × 30 

 = 7,500 

7,500/60  

= 125 

III 600 units × 15  

= 9,000 

1, 350 units × 20 

 = 27,000 

- 36,000/60  

=  600 

(iii)  Computation of wages of each worker under Premium bonus basis (where each 

worker receives bonus based on Rowan Scheme) 

Worker Time 
Allowed 

(Hr.) 

Time 
Taken 

(Hr.) 

Time 
saved 

(Hr.) 

Wage 
Rate per 
hour (`) 

Earnings 
(`) 

Bonus 
(`)* 

Total 
Earning 

(`) 

I 402.5 380 22.5 40 15,200 850 16,050 

II 125 100 25 50 5,000 1,000 6,000 

III 600 540 60 60 32,400 3,240 35,640 

 *  
TimeTaken

TimeSaved WageRate
Time Allowed

 
  

 Worker-I =  
380

22.5 40 850
402.5

  
 

 Worker-II = 
100

25 50 1,000
125

  
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  Worker-III = 
540

60 60 3,240
600

    

3. (a)  Overhead Distribution Statement 

 Production 
Departments 

Service Departments 

Machine 
Shops 

Packing General 
Plant 

Stores 

Allocated Overheads: (`) (`) (`) (`) 

Indirect labour 8,000 6,000 4,000 11,000 

Maintenance Material 3,400 1,600 2,100 2,800 

Misc. supplies 1,500 2,900 900 600 

Supervisor’s salary -- -- 16,000 -- 

Cost & payroll salary -- -- 80,000 -- 

Total allocated overheads 12,900 10,500 1,03,000 14,400 

Add: Apportioned Overheads 

(As per Schedule below) 

1,84,350 70,125 22,775 73,150 

 1,97,250 80,625 1,25,775 87,550 

 Schedule of Apportionment of Overheads 

Item of Cost Basis 

Production 
Departments 

Service Departments 

Machine 
Shops (`) 

Packing 

(`) 

General 
Plant (`) 

Stores  

(`) 

Power HP hours 

(7 : 1 : - : 2) 

54,600 7,800 -- 15,600 

Rent Floor space 

(5 : 2 : 1 : 4) 

30,000 12,000 6,000 24,000 

Fuel & Heat Radiator sec. 

(3 : 6 : 2 : 4) 

12,000 24,000 8,000 16,000 

Insurance Investment 

(10 : 3 : 1 : 2) 

7,500 2,250 750 1,500 

Taxes Investment 

(10 : 3 : 1 : 2) 

5,250 1,575 525 1,050 

Depreciation Investment 

(10 : 3 : 1 : 2) 

75,000 22,500 7,500 15,000 

  1,84,350 70,125 22,775 73,150 
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(b) Re-distribution of Overheads of Service Departments to Production 

Departments: 

Let, the total overheads of General Plant = ‘a’ and the total overheads of Stores = ‘b’  
a = 1,25,775 +  0.3b ..........................................(i) 

b = 87,550 + 0.2a ..........................................(ii) 

Putting the value of ‘b’ in equation no. (i) 
a  = 1,25,775 + 0.3 (87,550 + 0.2a) 

 Or  a  = 1,25,775 + 26,265 + 0.06a 

 Or 0.94a  = 1,52,040  Or a = 1,61,745 (appx.) 

 Putting the value of a = 1,61,745 in equation no. (ii) to get the value of ‘b’ 
b  = 87,550 + 0.2 × 1,61,745 = 1,19,899  

 Secondary Distribution Summary 

Particulars Total (`) Machine Shops (`) Packing (`) 

Allocated and Apportioned 
overheads as per Primary 
distribution  

2,77,875 1,97,250.00 80,625.00 

- General Plant 1,61,745 80,872.50 

(1,61,745 × 
5

10
) 

48,523.50 

(1,61,745 × 
3

10
) 

- Stores 1,19,899 59,949.50 

 (1,19,899 × 50%) 

23,979.80 

(1,19,899 × 
20%) 

  3,38,072.00 1,53,128.30 

4.  (i)  Statement of cost allocation to each product from each activity 

 Product 

M (`) S (`) T (`) Total (`) 

Power 

(Refer to 
working note) 

8,00,000 

(10,000 kWh × 
`80) 

16,00,000 

(20,000 kWh × `80) 
12,00,000 

(15,000 kWh × 
`80) 

36,00,000 

Quality 
Inspections  

(Refer to 
working note) 

21,00,000 

(3,500 
inspections × 

`600) 

15,00,000 

(2,500 inspections × 
`600) 

18,00,000 

(3,000 
inspections × 

`600) 

54,00,000 
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Working Note:  

Rate per unit of cost driver: 

Power   : (`40,00,000 ÷ 50,000 kWh) = `80/kWh 

Quality Inspection : (`60,00,000 ÷ 10,000 inspections) = `600 per inspection 

(ii)  Calculation of cost of unused capacity for each activity: 

 (`) 

Power 

(`40,00,000 – `36,00,000) 

4,00,000 

Quality Inspections 

(`60,00,000 – `54,00,000) 

6,00,000 

Total cost of unused capacity 10,00,000 

(iii)  Factors management consider in choosing a capacity level to compute the 

budgeted fixed overhead cost rate: 

- Effect on product costing & capacity management 

- Effect on pricing decisions. 

- Effect on performance evaluation 

- Effect on financial statements 

- Regulatory requirements. 

- Difficulties in forecasting for any capacity level. 

5.  Cost sheet for the year ended 31st March, 2019. 

Units produced - 14,000 units 

Units sold - 14,153 units 

Particulars Amount (`) 

Raw materials purchased 42,25,000 

Add: Freight Inward 1,00,000 

Add: Opening value of raw materials 2,28,000 

Less: Closing value of raw materials (3,05,000) 

 42,48,000 

Less: Sale of scrap of material (8,000) 

Materials consumed 42,40,000 

Direct Wages (12,56,000 + 1,50,000) 14,06,000 

© The Institute of Chartered Accountants of India



16 INTERMEDIATE (NEW) EXAMINATION: MAY, 2019 

Prime Cost 56,46,000 

Factory overheads (20% of Prime Cost) 11,29,200 

Add: Opening value of W-I-P 1,92,500 

Less: Closing value of W-I-P (1,40,700) 

Factory Cost 68,27,000 

Add: Administrative overheads 1,73,000 

Cost of Production 70,00,000 

Add: Value of opening finished stock 6,08,500 

Less: Value of closing finished stock  

 [` 500(70,00,000/14,000) × 1,064] 

 (1,217+ 14,000 – 14,153 = 1,064 units) 

(5,32,000) 

Cost of Goods Sold 70,76,500 

Distribution expenses (`16 × 14,153 units) 2,26,448 

Cost of Sales 73,02,948 

Profit (Balancing figure) 14,43,606 

Sales (` 618 × 14,153 units) 87,46,554 

6. (i) Costing Profit and Loss Account for the year ended 31st March 2019: 

Particulars Amount (`) Particulars Amount (`) 

Material consumed 14,16,000 Sales (30,000 units) 30,00,000 

Direct wages 7,42,000   

Prime Cost 21,58,000   

Works overheads  

(20% of Prime cost) 

4,31,600   

 25,89,600   

Less: Work in progress (54,000)   

Factory cost 25,35,600   

Administration overheads  

(`5 × 32,000 units) 

1,60,000   

Cost of production  26,95,600   

Less: Finished stock (1,68,475)   

Cost of goods sold 25,27,125   
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Selling and distribution 
overheads 

(`6 × 30,000 unit) 

1,80,000   

Cost of sales 27,07,125   

Profit (balancing figure) 2,92,875   

 30,00,000  30,00,000 

(ii)  Statement reconciling the profit as per costing profit and loss account with the profit 

as per financial accounts 

 Particulars Amount 

(`) 

Amount 

(`) 

Profit as per cost records  2,92,875 

Add: Overheads over-absorbed:   

- Works overheads (` 4,31,600 – ` 4,26,000) 5,600  

- Administration OH (` 1,60,000 – ` 1,50,000) 10,000  

- Selling and Distribution (` 1,80,000 – ` 1,65,000) 15,000 30,600 

Less: Closing stock overvalued (` 1,68,475 – ` 1,67,500)  (975) 

Profit as per financial accounts  3,22,500 

*It is assumed that the number of units Produced  

= Number of units sold + Finished stock = 30,000 + 2,000 = 32,000 units.  

7.  Dr.   Contract Account for the year ended 31st March, 2019      Cr. 

Particulars HP-1 (`) HP-2 (`) Particulars HP-1 (`) HP-2 (`) 

To Balance b/d: W-I-P 7,80,000 2,80,000 By Closing 
   material at  
   site 

47,000 52,000 

To Material purchased 6,20,000 8,10,000 By W-I-P:   

To Wages: (`85,000+`12,000) 

 (`62,000+`8,400) 

 

97,000 

 

 

70,400 

Value of work 
certified 

Cost of work 
not certified 

20,50,000 

 

 
1,90,000 

16,10,000 

 

 
1,40,000 

To Donation to local club* 5,000 2,500    

To Plant hire charges: 

 (`72,000x1/3) 

 (`57,000x1/3) 

 

24,000 

 

 

19,000 
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To Depreciation on  
     concrete mixture**: 

 (`8,20,000x15%x180/365) 

 (`8,20,000x15%x100/365) 

 

 

60,658 

 

 

 

33,699 

   

To Notional profit 7,00,342 5,86,401    

 22,87,000 18,02,000  22,87,000 18,02,000 

* Assuming donation paid to local club was exclusively for the above projects, hence 

included in the contract account. 

** Depreciation on concrete mixture machine is charged on the basis of number of days 

used for the projects, as it is clearly mentioned in the question that this machine can be 

used for other projects also. 

 (Land purchased and brokerage and registration fee paid for this purpose cannot be 

charged to contract account, hence not included in the contract account)  

8. (i)    Statement of Equivalent Production (Average cost method) 

Input 
(Units) 

Particulars Output 
Units 

Equivalent Production 

Materials Labour Overheads 

(%*)  Units**  (% )* Units** (%)* Units** 

20,000 Completed  14,000 100 14,000 100 14,000 100 14,000 

 WIP 6,000 100 6,000 33-1/3 2,000 33-1/3 2,000 

20,000  20,000  20,000  16,000  16,000 

  *Percentage of completion  ** Equivalent units 

(ii)        Statement showing Cost for each element  

Particulars  Materials Labour Overhead Total 

Cost of opening work-in-

progress (`) 

6,00,000 1,00,000 1,00,000 8,00,000 

Cost incurred during the 

month (`) 

25,60,000 15,00,000 15,00,000 55,60,000 

Total cost (`) : (A)  31,60,000 16,00,000 16,00,000 63,60,000 

Equivalent units : (B) 20,000 16,000 16,000  

Cost per equivalent unit (`) : 

C= (A ÷ B) 

158 100 100 358 

 

 

© The Institute of Chartered Accountants of India



 PAPER – 3: COST AND MANAGEMENT ACCOUNTING 19 

(iii)       Statement of Apportionment of cost  

 (`) (`) 

Value of output transferred: (A) (14,000 units × ` 358)  50,12,000 

Value of closing work-in-progress: (B)   

Material  (6,000 units  × `158) 9,48,000  

Labour (2,000 units  × ` 100) 2,00,000  

Overhead (2,000 units  × ` 100)  2,00,000 13,48,000 

Total cost : (A + B)  63,60,000 

(iv)         Process- A  Account 

Particulars Units (`) Particulars Units (`)  

To Opening WIP 4,000 8,00,000 By Completed  

     units  

14,000 50,12,000  

To Materials  16,000 25,60,000 By Closing WIP 6,000 13,48,000 

To Labour   15,00,000    

To Overhead   15,00,000    

 20,000 63,60,000  20,000 63,60,000 

9. (i) Statement showing the apportionment of joint costs to A, B and X 

Products A B X Total 

Output (kg) 18,000 10,000 54,000  

Sales value 
at the point of 
split off (`) 

9,00,000 

(` 50 x 18,000) 

4,00,000 

(` 40 x 10,000) 

5,40,000 

(` 10 x 54,000) 

18,40,000 

Joint cost 
apportion-
ment on the 
basis of sales 
value at the 
point of split 
off (`) 

6,30,000 

12,88,000
x 9,00,000

18,40,000

 
 
 

 ̀
`

 ̀
 

2,80,000 

12,88,000
x 4,00,000

18,40,000

 
 
 

` 
`

` 
 

3,78,000 

12,88,000
x 5,40,000

18,40,000

 
 
 

 ̀
`

 ̀
 

12,88,000 

(ii)            Statement showing the cost per kg. of each product 

(indicating joint cost; further processing cost and total cost separately)  

Products A B X 

Joint costs apportioned (`) : (I) 6,30,000 2,80,000 3,78,000 
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Production (kg) : (II) 18,000 10,000 54,000 

Joint cost per kg (`): (I ÷ II) 35 28 7 

Further processing Cost per kg. 
(`) 

10 

1,80,000

18,000kg

 
 
 

` 
 

15 

1,50,000

10,000kg

 
 
 

` 
 

2 

1,08,000

54,000kg

 
 
 

` 
 

Total cost per kg (`) 45 43 9 

(iii) Statement showing the product wise and total profit for the period 

Products A B X Total 

Sales value (`) 12,24,000 2,50,000 7,92,000  

Add: Closing stock value (`) 

(Refer to Working note 2) 

  

  45,000 

 

2,15,000 

   

90,000 

 

Value of production (`) 12,69,000 4,65,000 8,82,000 26,16,000 

Apportionment of joint cost (`)  6,30,000 2,80,000 3,78,000  

Add: Further processing cost (`) 1,80,000 1,50,000 1,08,000  

Total cost (`) 8,10,000 4,30,000 4,86,000 17,26,000 

Profit (`)  4,59,000 35,000 3,96,000 8,90,000 

 Working Notes 

1. 

Products A B X 

Sales value (`) 12,24,000 2,50,000 7,92,000 

Quantity sold (Kgs.) 17,000 5,000 44,000 

Selling price `/kg 72 

12,24,000

17,000kg

 
 
 

 ̀
 

50 

2,50,000

5,000kg

 
 
 

` 
 

18 

7,92,000

44,000kg

 
 
 

` 
 

 2. Valuation of closing stock: 

Since the selling price per kg of products A, B and X is more than their total 

costs, therefore closing stock will be valued at cost. 

Products A B X Total 

Closing stock 
(kgs.) 

1,000 5,000 10,000  

Cost per kg (`) 45 43 9  
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Closing stock 
value (`) 

45,000 

(` 45 x 1,000 kg) 

2,15,000 

(` 43 x 5,000 kg) 

90,000 

(`9x10,000 kg) 

3,50,000 

(iv)  Calculations for processing decision 

Products A B X 

Selling price per kg at the point of split off (`) 50 40 10 

Selling price per kg after further processing (`) 

(Refer to working Note 1) 

72 50 18 

Incremental selling price per kg (`) 22 10 8 

Less: Further processing cost per kg (`) (10) (15) (2) 

Incremental profit (loss) per kg (`) 12 (5) 6 

 Product A and X has an incremental profit per unit after further processing, hence, 

these two products may be further processed. However, further processing of product 

B is not profitable hence, product B shall be sold at split off point.  

10.  (i)                       Total equivalent single room suites 

Nature of suite Occupancy (Room-days) Equivalent single room 
suites (Room-days) 

Single room suites 36,000 

(100 rooms   360 days  100%) 

36,000 

(36,000  1) 

Double rooms suites 14,400 

(50 rooms  360 days  80%) 

36,000 

(14,400  2.5) 

Triple rooms suites 6,480 

(30 rooms  360 days  60%) 

32,400 

(6,480  5) 

  1,04,400 

(ii) Statement of total cost: 

 (`) 

Staff salaries 14,25,00,000 

Room attendant’s wages 4,50,00,000 

Lighting, heating and power 2,15,00,000 

Repairs and renovation 1,23,50,000 

Laundry charges 80,50,000 

Interior decoration 74,00,000 

Sundries   1,53,00,000 

 25,21,00,000 
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Building rent {(`10,00,000  12 months) + 5% 
on total taking} 

1,20,00,000+ 5% on total takings 

Total cost 26,41,00,000 + 5% on total takings 

Profit is 20% of total takings 

 Total takings = ` 26,41,00,000 + 25% (5% +20%) of total takings 

Let x be rent for single room suite 

Then 1,04,400 x  = 26,41,00,000 + 0.25 × 1,04,400 x 

Or, 1,04,400 x   = 26,41,00,000 + 26,100 x 

Or, 78,300 x   = 26,41,00,000 

Or, x    = 3,373 

(iii) Rent to be charged for single room suite = ` 3,373 

 Rent for double rooms suites ` 3,373  2.5 = ` 8,432.5 

Rent for triple rooms suites ` 3,373  5 = ` 16,865 

11.  Material Variances: 

Material SQ 

(WN-1) 

SP  

(`) 

SQ × SP 

(`) 

RSQ 

(WN-2) 

RSQ × SP 

(`) 

AQ AQ × SP 

(`) 

AP 

(`) 

AQ × AP 

(`) 

A 940 kg. 45.00 42,300 886 kg. 39,870 900 kg. 40,500 43.00 38,700 

B 705 kg. 30.00 21,150 664 kg. 19,920 650 kg. 19,500 32.50 21,125 

 1645 kg  63,450 1550 kg 59,790 1550 kg 60,000  59,825 

WN-1: Standard Quantity (SQ): 

Material A-  
800kg.

1,480kg.
0.9 1,400kg.

 
  

= 939.68 or 940 kg. 

Material B-  
600kg.

1,480kg.
0.9 1,400kg.

 
  

 = 704.76 or 705 kg. 

WN- 2: Revised Standard Quantity (RSQ): 

Material A-  
800kg.

1,550kg.
1,400kg.

 
 

 
 = 885.71 or 886 kg. 

Material B-  
600kg.

1,550kg.
1,400kg.

 
 

 
  = 664.28 or 664 kg. 
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(a)  Material Cost Variance (A + B)  = {(SQ × SP) – (AQ × AP)} 

        = {63,450 – 59,825}  = 3,625 (F) 

(b)  Material Price Variance (A + B) = {(AQ × SP) – (AQ × AP) 

        = {60,000 – 59,825}  = 175 (F) 

 (c)  Material Mix Variance (A + B)  = {(RSQ × SP) – (AQ × SP)} 

         = {59,790 – 60,000}  = 210 (A) 

 (d)  Material Yield Variance (A + B) = {(SQ × SP) – (RSQ × SP)} 

         = {63,450 – 59,790}  = 3,660 (F) 

 Labour Variances: 

Labour SH 

 (WN-3) 

SR 

(`) 

SH × SR 

(`) 

RSH 

(WN-4) 

RSH × SR  

(`) 

AH AH × SR 

(`) 

AR 

(`) 

AH × AR 

(`) 

Skilled 1,116 hrs 37.50 41,850 1144 42,900 1,200 45,000 35.50 42,600 

Unskilled 893 hrs 22.00 19,646 916 20,152 860 18,920 23.00 19,780 

 2,009 hrs  61,496 2,060 63,052 2,060 63,920  62,380 

WN- 3: Standard Hours (SH): 

Skilled labour-  
0.95 1,000hr.

1,480kg.
0.90 1,400kg.

 
  

 =1,115.87 or 1,116 hrs. 

Unskilled labour- 
0.95 800hr.

1,480kg.
0.90 1,400kg.

 
  

 = 892.69 or 893 hrs. 

WN- 4: Revised Standard Hours (RSH): 

Skilled labour- 
1,000hr.

2,060hr.
1,800hr.

 
 

 
 = 1,144.44 or 1,144 hrs. 

Unskilled labour- 
800hr.

2,060hr.
1,800hr.

 
 

 
 = 915.56 or 916 hrs. 

(e)  Labour Cost Variance (Skilled + Unskilled)   = {(SH × SR) – (AH × AR)} 

           = {61,496 – 62,380}  = 884 (A) 

(f)  Labour Efficiency Variance (Skilled + Unskilled) = {(SH × SR) – (AH × SR)} 

           = {61,496 – 63,920} = 2,424 (A) 

(g)  Labour Yield Variance (Skilled + Unskilled)  = {(SH × SR) – (RSH × SR)} 
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           = {61,496 – 63,052} = 1,556 (A) 

12. (i) Contribution = `375 - `175 = `200 per unit. 

Break even Sales Quantity = 
Fixed cos t

Contribution margin per unit
= 3,50,00,000

200

` 

` 
= 1,75,000 units 

Cash Break even Sales Qty=
Cash Fixed Cost

Contribution margin per unit
= 2,00,00,000

200

`

`
= 1,00,000 units. 

(ii) P/V ratio   = 
Contribution/ unit

100
Selling Pr ice / unit

  = 
200

100
375


`

`
 = 53.33%  

(iii) No. of units that must be sold to earn an Income (EBIT) of ` 25,00,000 

 
Fixed cost  Desired EBIT level

Contribution margin per unit


 =

3,50,00,000 25,00,000

200


 = 1,87,500 units 

(iv) After Tax Income (PAT) = `25,00,000 

Tax rate = 40% 

Desired level of Profit before tax  =
25,00,000

100
60


`

 = `41,66,667 

Estimate Sales Level = 
FixedCost DesiredPr ofit

P / Vratio


 

Or,

 

FixedCost DesiredPr ofit
SellingPr iceper unit

Contributionper unit

 
 

 
  

  = 
3,50,00,000 41,66,667

53.33%

` ` 
= `7,34,42,091 

13.  (a)  Flexible Budget before marketing efforts: 

  Product A (`) Product B (`) 

 6,000 units 9,000 units 

 Per unit Total Per unit Total 

Sales 120.00 7,20,000 78.00 7,02,000 

Raw material cost  60.00 3,60,000 42.00 3,78,000 

Direct labour cost per unit 30.00 1,80,000 18.00 1,62,000 

Variable overhead per unit 12.00 72,000 6.00 54,000 

Fixed overhead per unit 8.00 48,000 4.00 36,000 
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Total cost 110.00 6,60,000 70.00 6,30,000 

Profit 10.00 60,000 8.00 72,000 

(b)  Flexible Budget after marketing efforts: 

  Product A (`) Product B (`) 

 7,500 units 9,500 units 

 Per unit Total Per unit Total 

Sales 120.00 9,00,000 78.00 7,41,000 

Raw material cost  60.00 4,50,000 42.00 3,99,000 

Direct labour cost per unit 30.00 2,25,000 18.00 1,71,000 

Variable overhead per unit 13.20 99,000 6.60 62,700 

Fixed overhead per unit 6.72 50,400 3.98 37,800 

Total cost 109.92 8,24,400 70.58 6,70,500 

Profit 10.08 75,600 7.42 70,500 

14. (a) Difference between Cost Control and Cost Reduction 

Cost Control  Cost Reduction 

1. Cost control aims at maintaining 
the costs in accordance with the 
established standards. 

1. Cost reduction is concerned with 
reducing costs. It challenges all 
standards and endeavours to 
better them continuously 

2.  Cost control seeks to attain lowest 
possible cost under existing 
conditions.   

2. Cost reduction recognises no 
condition as permanent, since a 
change will result in lower cost. 

3.  In case of cost control, emphasis 
is on past and present 

3. In case of cost reduction, it is on 
present and future. 

4.  Cost control is a preventive 
function 

4. Cost reduction is a corrective 
function. It operates even when an 
efficient cost control system 
exists. 

5.  Cost control ends when targets 
are achieved. 

5. Cost reduction has no visible end. 

(b)  Accounting treatment of idle time wages & overtime wages in cost accounts:  

Normal idle time is treated as a part of the cost of production. Thus, in the case of 

direct workers, an allowance for normal idle time is built into the labour cost rates. In 

the case of indirect workers, normal idle time is spread over all the products or jobs 

through the process of absorption of factory overheads. 
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 Under Cost Accounting, the overtime premium is treated as follows: 

➢ If overtime is resorted to at the desire of the customer, then the overtime 

premium may be charged to the job directly. 

➢ If overtime is required to cope with general production program or for meeting 

urgent orders, the overtime premium should be treated as overhead cost of 

particular department or cost center which works overtime.  

➢ Overtime worked on account of abnormal conditions should be charged to 

costing Profit & Loss Account. 

➢ If overtime is worked in a department due to the fault of another department the 

overtime premium should be charged to the latter department. 

(c)  Cost classification based on variability 

(a) Fixed Costs – These are the costs which are incurred for a period, and which, 

within certain output and turnover limits, tend to be unaffected by fluctuations in 

the levels of activity (output or turnover). They do not tend to increase or  

decrease with the changes in output.  For example, rent, insurance of factory 

building etc., remain the same for different levels of production.   

(b) Variable Costs – These costs tend to vary with the volume of activity.  Any 

increase in the activity results in an increase in the variable cost and vice-versa.  

For example, cost of direct labour, etc.   

(c) Semi-variable Costs – These costs contain both fixed and variable components 

and are thus partly affected by fluctuations in the level of activity.  Examples of 

semi variable costs are telephone bills, gas and electricity etc. 

Cost classification based on controllability 

(a) Controllable Costs - Cost that can be controlled, typically by a cost, profit or 

investment centre manager is called controllable cost. Controllable costs 

incurred in a particular responsibility centre can be influenced by the action of 

the executive heading that responsibility centre. For example, direct costs 

comprising direct labour, direct material, direct expenses and some of the 

overheads are generally controllable by the shop level management. 

(b)  Uncontrollable Costs - Costs which cannot be influenced by the action of a 

specified member of an undertaking are known as uncontrollable costs. For 

example, expenditure incurred by, say, the tool room is controllable by the 

foreman in-charge of that section but the share of the tool-room expenditure 

which is apportioned to a machine shop is not to be controlled by the machine 

shop foreman. 
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